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QUESTION PAPER — 24164

S 100 ,
Time Allowed 60 Minutes
DO NOT write anythi
nything on this sheet. 1
Mark /o0 This shee LIPS g
correct answer in Answer Sheet. e C‘
Correct way of k O eaC 2T
of marki
@ ot ng of the Answer .‘-_')’b’é.,.lﬁé‘
C) Is the co t
rrectanswer (a) (b) @ (d) (e) Py 28 (¢) )
e I TSt er S P er
If a set is defined with the help of a statement, it is called ----------—---- form.
(a) Tabular Form (b) Descriptive Form (c)  Set Builder Form
Qs ) (2k3b) Glirlsa b
(d) Inter Section of two sets  (e) Union of Two Sets
(8{5((_);:’») (cf{Ku;f)))
cun S S B N BulA x5
Two sets A and B are said to be -------—------ if there is no common element between A
and B.
(a) Universal Set (b) Compliment Set (c) Inter Section of two sets
(20 3E6) (erazdh) LIED)
(d) Disjoint Set (e) Overlapping Set
(er A7 2) (Lrdi)
.q/()"uﬁ’q/'mfd‘?(%
Find the additive and multiplicative inverse of 23.
(a) 1 (b) 10 (c) 1 (d) 23 (e) 23
=23, — 230, — 23, — —
23 23 23 23 23
B 2 e .._GJ)K:U:!J”L’»
The difference of any two rational numbers is a .
(a) Decimal Number - (b) Compliment (¢) Rational Number
(G2 4E#1) Number GaPV)
(u&b‘:«gjg.f)
(d) Exponent Number (e) Positive Number
Gulizs) €Y 2))
w1
-(j_/{,tiu:)ﬁdjwlrfﬁ&j/;
1 .
Change N into non-terminating decimal number.
(a) 0.07 (b) 0.007 (c) 0.2814 (d)y 0.724 (e) 0.1428
P 5 x5 x5 %5
Express 5 X 5 x 5 x 5 in exponential form. e
() 25 (b) 5° (© 5° (4 57 () 625
LS8 K 1030.41

Find the Square Root of 1030.41
(a) 103041 (b) 10304.1 (¢ 1030  (d) 32.1 (e) 223.10
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